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e 2,000
0] * 20,000
Ok 20,000
= 100,000
EST 50,000
0l * 20,000
e 2,000
Bl xx 46,000
Lbx 1,000,000
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2a 2,000
0l # 20,000
ol ¢ 46,000
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Ofxx 20,000
Fxx 100,000
E 50,000
Ofl %% OH LI B10| Xt 4
Ofl ¢ S2A20/ X 137
0l # 20,000
2an 2,000
off ¢ 46,000
E 50,000
Obx 20,000
Fxx 56,000
0l # 20,000
Lw 1,000,000
e 2,000
ol xx 46,000
Obx 20,000
B xx 100,000
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0l * 20,000
2a 2,000
ol xx 46,000
Obx 20,000
S xx 100,000
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2xx 2,000
B+ 46,000
E 50,000
Frex 480,000
Of 16
Ofl 60
Ok 20,000
0l %% 20,000
2xx 2,000
B+ 46,000
Ok 20,000
ES 50,000
2xx 2,000
| e 681
e 120,000
S 4,000
0l %% 40,000
Bl xx 46,000
OFxx 20,000
ES 20,000

ik 30,000
S 1,000
0l %% 10,000
2xx 2,000
Bhex 3,000,000
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Of ¢ 77
0f ¢ 17
=)o 30,000
D x 1,000
Obw 20,000
0] % 10,000
ol x 46,000
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